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7.4.2 Equidistant set oftwopoints is theintersectionofa planepassing
throughOER withthe sphere which is always a greatcircle
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7.4.5 Let f 555 be an isometryof52
Choose 3 points A B CE S not in a line

If flak A then set 9 Idsa identitytransformation Otherwise

let 9 be a reflection that maps A to f A Set fig of

Then f is an isometry that fixesA

If f IB B then set 92 115 Otherwise

let 92 be the reflection across the great
circle L that is

equidistant set of points B and f B

Since dist A B dist f CA f Bl dost ft fled A is contained in L

So 9 fixes A and 9 of B B Set fatgoof

Then fz fixes both A and B

If falckc then set 93 115
Otherwise

Let9 be a reflection across a great
code La thatis
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dist B C edit falBl talc dost Btale Belz

so g fixes A B and got e C Set 83 9sofa

Then f trees A B C Idgafso 9309209

3 9,19 9519 92.9 is a productof at most 3 reflections
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7.5.2 R rotation around P by angle Oi To O E

Re rotation around Q by angle Oz To Orto

If P Q then RioRz is a rotation around P

Assume P Q then we can decompose
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where l is the line containing P and Q

la is obtainedfrom l by rotating
it aroundPwithangle Eff E I

l is
aroundQ Eff E I
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So Rok is a rotation if 0,40240
model in whichcase it

is a rotation aroundA with angle
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